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Summer 2011
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Material Covered — Exam 1

* Introductory Notes (2 sets of notes).
— Basic OO concepts.
— Criteria for elegant software.
— Advantages of OO.
— Introduction to variables, classes, and methods.
— Introduction to UML.
— Inheritance — Specialization and Generalization
— Subtypes and Polymorphism

e The notes on the Java Environment are not
covered on the exam.

”
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Material Covered — Exam 2

 Classes In Java — 5 sections of notes plus a prequel
set of notes.

* Inheritance and polymorphism.

e Abstract classes and interfaces.
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New Material Covered

Exception Handling in Java. You should be able to
modify a segment of code that does not catch an
exception into a segment of code that does catch an
exception.

Event-driven Programming in Java — GUIs. Only very
basic stuff from this area will appear on the final exam.

File 1/0 — basic concepts only

Java Networking — not covered on final.
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Test Format

Very similar to the other two tests.
Some True/False questions
Some fill-in-the-blanks questions.

Some tracing through code and producing the
output.

Some writing of Java console application
programs.
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Sample Test Questions

1. Write a complete Java program that will print
the average of five integer numbers which are
read from the keyboard with the following
restrictions.

« Do not use an array to store the integer values.

*  Prompt the user for each of the five input values.

« Use a Scanner object for the input.

#
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|I| HouseHoldPet.java |I| Cat.java |I| Researchassistant.ja |I| FinalQuestion5.java

-

poblic cla=ss AvgFive {
= poblic static vold main(Stringl(]

Yol end olass DwvoFive

final int LIST S5IZE = 5:
int currentInput;

int runningTotal = 0;

//BufferedReader stdin = new BufferedReader (new InputStreamReader (System.
Scanner stdin = new Scanner (System.in) :
System.cub.println("Enter first integer: ");
JfcurrentInput = Integer.parselnt (stdin.readLine()):
currentInput = =stdin.nextInt () -

runningTotal += currentInput;
System.cub.println("Enter =second integer: ") ;
JfcurrentInput = Integer.parselnt (stdin.readLine()):
currentInput = =stdin.nextInt () -

runningTotal += currentInput;
System.cub.println("Enter third integer: ");
JfcurrentInput = Integer.parselnt (stdin.readLine()):
currentInput = =stdin.nextInt () -

runningTotal += currentInput;
System.cub.println("Enter fourth integer: ") ;
JfcurrentInput = Integer.parselnt (stdin.readLine()):
currentInput = =stdin.nextInt () -

runningTotal += currentInput;
Syvstem.cut.println("Enter fifth integexr: ") ;
JfcurrentInput = Integer.parselnt (stdin.readLine()):
currentInput = =stdin.nextInt () -

runningTotal += currentInput;

int average = runningTotal LIST SIZE;
System.ocut.println("The input average is: " 4+ average):
end main method

[J] *=AvgFive.java &2

49

args) throws ICException { Solution — Problem 1

in) ) -
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]

|I| QuestionSixDriver.ja |I| FinalQuestion5.java |I| AvgFive.java |I| *ReviewQueston2.jav =3 *e1

class Thingi

poblic int value; poblic Thing one; poblic Thimng two;
Thing() {value = 4: one = nmll; Ttwo = nmll; §
Thing(int inwval, Thing x){ivalue = inval:; one = X; two = thi=sr}

YA rend class Thing

Problem 2 — Show the

pollic class ReviewPuestionZ {

output from this program

= poblic =s=tatic void main (String arg=s[]1) {

Thing m = new Thingi():
Thing n = new Thingl():

N n.value = b; nn.one = Ing nn.two = Ti;
Thing o = new Thing(8, mnew Thingi()):
System.cut.println{("l: m.wvalue = " 4+ m.wvaluae) ;
SvErtem.out.printiln("Z2: n.value = " 4+ n.wvaluae) ;
Syvstemn.cut.println("3: o.value = " 4+ o.wvalu=) ;
SvyvEten.cut.printiln("4: n.one.value = " 4+ n.one.wvaluaes) ;
SyvEtem.ocounut.printiln("5: o.one.value = " 4+ pog.one.wvaluae) ;
O.0one.one = .one;
Svstem.ocut.println("6: oc.one.one.value = " 4+ o.one.one.wvaluae) ;
n.two = o.one.one;
. two = O.CwWo?
SvEten.cut.println("7: n.ctwo.value = " 4+ n.two.wvaluae) ;
Syvztem.cubt.printiln("8: m.two.value = " 4+ m.two.wvalae) ;
Thing p = new Thing(ld, o.one) s
p.one.value = 12;
Svstemn.ocut.println("9: p.value = " 4 p.wvalus)
Syv=ten.cut.printiln("10: p.one.value = " 4+ p.one.wvaluae) ;
SyEtemn.cut.printiIn("l1l1: oc.one.value = " 4+ pg.one.wvaluae) ;
o.one.two = D.two;

System.cut.println("l1Z2: oc.one.two.value = " 4+ g.one.two.wvaluae) ;

T A P [ R, TR
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Solution — Problem 2

value = 4

value = 6

one ¢

two ¢
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value = 6

one ¢

ftwo ¢

value = 8

Solution — Problem 2

First five output lines are
generated from this
configuration

value = 4
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Solution — Problem 2

Output 6 is generated from
this configuration

value = 6

one ¢

ftwo ¢

value = 8 value = 4

one ¢

two ¢—
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Solution — Problem 2

Outputs 7 and 8are
generated from this
configuration

value = 6

one ¢

ftwo ¢

value = 8 value = 4

one ¢

two ¢—
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Solution — Problem 2

Outputs 9, 10, and 11 are
generated from this

configuration
m value = 4
one T null
ftwo ¢
P& value=10
one ¢
n¢&—>| value=6 two ¢
one ¢
ftwo ¢
_ ~ _
0 value = 8 ‘ value = 12
one ¥ one ¢
ftwo ¢ two ¢——» null
( 4
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Solution — Problem 2

Final output 12 is generated
from this configuration

one T null

wo e P &—> value=10
one ¢
n&—| value=6 two o
one ¢
two ¢
0 value = 8 :‘ value = 12
one one ¢
two ¢ two ¢
#
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Lo
| B console 3

<terminated > ReviewQuestion2 [Java Application] C:\Program Files\Java'jre\pintjavaw.exe

T om.value g

n.value

o.value

4
4
.one.value

4
= &2

Lone,.value

Lone.value =

. OTIE

e I R 3 RS S WU (S B

two.value

g
9
10:
11:
12:

.value
= 10
p.one.value

. TWo
.value
1
1
o.one.two.value

o.one.value

Output — Problem 2

= A

=
o=

X % EubB8E|E o

10
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Draw the UML diagram for the following scenario.

We have three different “things” to keep track of:
Customers who have a name and an address.

Customers place Orders with our company. Each order has a date the order was placed,
the current status of the order, and the amount in $ of the order. For each order we need
to calculate the tax to add to the order based on the amount of the order, and we’d like to
be able to print all the details of an order.

Finally, Payments are made by customers to pay for the orders that they place with our
company. Each payment consists of an specified amount in dollars.

Payments can be made by:

Credit Card in which case its number, type, and expiration date are to be maintained, and
whether or not the charge was authorized,;

Cash in which case only the dollar amount is maintained.

Check in which case the name on the check and the name of the bank are recorded, and
whether or not the charge was authorized.
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customer

- name: string
- address: string

Solution — Problem 3

order

- date: date
- status: integer

— amount: double

- calculateTax(): double
+ getOrderDetails(): string

payment

— amount: double

creditCard

— number: string
—type: string
- exprDate: date

- auth: boolean

cash

check

— amount: double

- name: string
- bank: string

— auth: boolean
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4.

What is the exact output from the following program?

-~

>

|I] Cuestiond . java I/m AvgFive.java rm ReviewQuestiond.java == B0

SifClas=s: BReviewQusstiond

Pl

/A Final Exam Review — CO 3

class Overloadq

pobklic =s=tatic void £fi{int a, dookle b)) {
Syvzrten.ocut.princln("fi(int, doubkle): a
Syvzrtem.ocut.princln("f(int, doubkle): b

H

pokbklic =tatic void £f{int a, int b)) 1
Syvstem.ocubt.println("f({int, int): a
System.ocutbt.println("f({int, int): b

¥

pulxlic static void £ (dooble a, donble k)
Syvzrtem.ocut.println ("f (doukle, doubkle) :
Syvztem.ocut.println ("f (doukle, doukble) :

H

frend class Overload

poblic clas=s Review{mestiondgd{
public static void main(String[] args) 1
int i = 1:;
int j = 2:
dooble = = 3.5;
donoble v = 10.2
Cverload.f(i,])
Cverload. (i, v)
Cverload. £({v,x)
YA Send main mechod
S rend class Reviewumestiond

M k1] Ll

COP 3330: Final Exam Review Page 18 © Dr. Mark Llewellyn




Answer Sample Question #4

D Y el

] Console 7 ﬂ%kﬁ“gﬁ BT 8

<terminated> ReviewQuestiond [Java Application] C:\Program Files\Java\jred\bin\ -
f(int, int): a = 1 N =
flint, int): b = 2 b
f(int, double): a =1
f(int, double): b = 10.
f(double, double): a =
f(double, double): b

COP 3330: Final Exam Review © Dr. Mark Llewellyn




5. What is the exact output from the following program?

| ReadServerFileTest.j [’III Cuestiond . jawa |/|I| AvwgFive.java rlII RewviewQuestiond . jawva rlII Rewiew e

FAiCla=s=: Rew
=T T { Surmmer 2011

A Final E

clas=s D {
private static int
private int counter
poklic D) £ ¥
polblic wvwold dinmcrement )

=
=2

+4+cocounterli;

+4+coumntcer?

¥

polblic int getcCounterl () i
retorn countesril:

¥

poblic int getcCounterZ () i
retorn countcexrZ:

H
"rend class D

poblic class Review(uestionS {
poblic static vold main(String[]l args) £
D d1 = zwew D)
D d2 = mew D)
dl . imcrement [ )
dZ . inmncrement ()
dl . imcrement [ )
dZ . inmcrement | )
dZ . increment ()
Svestem.onbt.println ("dl countexrl ~getCountexd () )
Svstem.ouubf.princtln ("dl countexrd ~getCouantexrZ () )
Syvestem.oconbt.printcln ("dZ counterl getvCouanterd () )
Svestem.conbt.princtln ("dZ2 countexrd getCountexd () )

LT TR T R TR T T I |

W % W W

FUAend main method
class ReviewlDuestionbS
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Answer Sample Question #5

¥ E|
= Console & =8

<terminated> ReviewQuestion5 [Java Application] C:\Program

X% 5 EEE v

dl counterl is: 4
dl counter? is:
d? counterl is:
d2 counter? is:
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Sample Test Questions

6. What is the exact output of the program shown below?

FAClas =
S SCOoOP 3
class F{
private int wvalue;
poblic F({) {
walnue = 4;
System.ont.printlin {("Created an F object: " + walue) -

poklic F{int =) {
value = =7
Syv=stem.out.println ("Created am F object: " 4+ walue) ;

pokblic int getwvaluese () 1
retorn valuae;
flfend class F
poulxlic class Review(uestiontd extend=s F {
private F wvalue:
poblic Review(uestiong (int =x, int v) {
EOpeerT (X)) 5
wvalue = new F({y):

poblic static void main(String[[] args) {
Reviewuestiont g = new Reviewuestiong(l4, 2Z20) :
Svetem.cut.println("g.value i=s: " 4+ g.getwvalus()) !
Yrrend main method
YA end class Reviewluestiondg
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Answer Sample Question #6

— Java - Final Exam - Summer 2011/src/ReviewQuestion6.java - Edlipse
File Edit 5Source Refactor Mavigate 5earch Project Bun Window Help
¥BrO0-Q- #HEG- @
o L z w *i::l {:]:I v w

rE Console &2 % %| 5

<terminated> ReviewQuestionb [Java Application] C:\Program Files\Java\jrebibin
Created an F object: 14

Created an F object: 20

g.value i=z: 14
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Sample Test Questions

For each line in the main method In the program
shown on the next page, state whether the line
will result in a compilation error or not.

Explain what the error is for those lines that will
result in a compilation error and “OK” for lines
that will not result in a compilation error.
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SAClas=s: ReviewpuestionT
JSACOP 3330 — Summer 2011

cla=s=s C1 {
polxlic int 7
protected doolbhle =
long T
polxlic =tatic int w:
YA fend class C1

clas=s CZ {4
palxlic Cl1 = = nmew C1 ()
polxlic C2Z2 wu = new CT2(0)
protected float
Float w;
private =tatic int =x;
YA Aend class C2

polxlic class ReviewlDuestionT extend=s C14{
polxlic =tatic voild main(String arg=[1) 1
Cl v = mew C1():
CZ mm = mew CT2():
w.r = &8
W= 3 =
V.T = W
Cl.wuz = 99;
C2.x = 37:
Y.-w = 5001;
Yo Send main method
YA Send class ReviewDuestionT
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clas=s C1 {
public int r;
protected double s=;
long t;

nbhlic =static int o; )
. __.I:Fd e o N Solution — Problem 7

class C2 {

public Cl z = new Cl{);
public C2 u = new C2():
protected float v:
float w:

private static int x;
y//end class C2

public class Review(Question7 extends Cl{
= public static vold main(3tring args
Cl v = new Cl{):

CZ2 m = new C2():

yv.r = 8;

v.2 = 3.12;
y.L = yv.L + 1;
Cl.u = 99;

C2.x = 3T;
¥.W = 5001; «
Y/ /end main method
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Sample Test Questions

8. Modify the code shown on the following page so
that it will handle an InputMistmatchException
by informing the user that an integer must be
entered at the prompt and will repeatedly do so
until the user enters an integer value.
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x>

p
)| ExceptionDemo.java E?E\m HandleExceptionDemo. W B6

= f/Class: ExceptionDemn
J//Final Exam Review - COF 3330 - Summer 2011
//MIL 7/28/2011]

import java.util.Scanner;

pubklic class ExceptionDemo {
= puoblic static void main(5tring[] args) {
Scanner input = new Scanner (System.in);
aystem.ocut.print ("Enter an integer: "):;
int number = input.nextlInt();

/{ Display the result
aystem.ocut.println|
"The number entered iz " + number):
Y/ /end main method
}//end class ExceptionDemo

|
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[X] *ReviewQuestion7 .jav rlil ExceptionDemo.jawva |‘r|I| HandleExceptionDemo. E:’E\‘“x

= S ry2Clas=s:: HandleExceptionDemo
imal Exam ERewview — OO 3330 — Surnmerxr 20171
Solution to rewview proablem B

AT ToA2ELS 20000
Solution — Problem 8

impeorit jJjava.umtcil o= ;

paolxlic class HandleExceptionDermo 4

= polxlic =tatic vold main(Stcring[] arg=) 4
Scanner inpuat = new Scanner (Sy=tem. 1) -
BPoolean continuelnpnaat = tTtroers
Ao £

try 1
Svstem. ob.print ("Entexr am imtegexr: ™) 2
int mumbeaer == dnmpat.nextTomt () -
Display the rrssultc
Svstem.ocpnt.println
TThe mumbeaer enteraed is " 4+ mumber) -
contimuaueInput = Ffalse:
A rend cry bBElock
catch (ITnputMHMi=matchException =x) 1
Sv=stem..onbt.printclin ("Try agairn. ("™ +
"Toocorrect input: amn integer i=s recuaired) ™) -
impuat .. nextcl.dmnoe () -
rASsend caccech block
¥y while [(conmntimuelnpyat) -
YA Ssend main method
YA end class HandleExceptionDermo
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